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QUESTION 1

Cluster1 is being merged into Cluster2. All the appropriate network heartbeat links are in place. The merged cluster
keeps the name and ID of Cluster2. On which cluster(s) will LLT need to be restarted? 

A. Cluster1 

B. Cluster2 

C. Both clusters 

D. Neither cluster 

Correct Answer: A 

 

QUESTION 2

Which service group attribute enables specifying preferred nodes for failover? 

A. SystemZones 

B. AutostartList 

C. ClusterList 

D. IntentionalOnlineList 

Correct Answer: A 

 

QUESTION 3

What are default behaviors of VCS service groups? (Choose three.) 

A. Migrate service groups from a system on intentional system shutdown 

B. Start the service groups in alphabetical order 

C. Autodisable the service groups on cluster startup 

D. Autodisable the service groups on a system when HAD fails 

E. Start the service groups in the order of the attribute SystemList 

Correct Answer: ACD 

 

QUESTION 4

The loadwarning trigger has been configured for all cluster systems, and all service groups have been configured for
load. The current load on a system is 135, which is the maximum possible load on a system for this configuration, and
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the load has been observed for 10 minutes. The following system attributes have been set for all cluster nodes: 

Capacity = 150 

LoadWarningLevel = 80 

LoadTimeThreshold = 300 

Under which condition will the loadwarning trigger be invoked? 

A. The trigger will never be invoked. 

B. The trigger will be invoked after 135 seconds. 

C. The trigger will be invoked after 240 seconds. 

D. The trigger will be invoked after 300 seconds. 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. 

All service groups have FailOverPolicy=Load and are configured to run on all of the nodes. What happens when the
node sym4 faults? 

A. g4sg fails over to node sym1, and g5sg remains offline everywhere. 

B. g4sg fails over to node sym1, and g5sg fails over to node sym3. 
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C. g4sg fails over to node sym3, and g5sg fails over to node sym2. 

D. g4sg fails over to node sym3, and g5sg remains offline everywhere. 

Correct Answer: B 
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